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public class P1 {

public veid count1{int m, int n, int p)

int counter1, counter2, counter3;

counteri = 1;

cusum = 0;

while {counter1 == m)

{
cusum += pounteri,
counter! +=1;

¥

counter2 = 1,
product = 1;

while (counter? ==n)

product *= counter2;

counter? +=1;
¥
counter3 = 1;
sum =0;

while {counter3 == p)
{

sum += counter3;
counter3 +=1;

mean = sum | p;
:::ublic int getSumi)
{ return sum;
:;r:ublic int getProduct()
return product;
:Fr:ublic int getCusum()
{

return cusum;

1
public int getMean()
{

return mean;

private int sum, product, cusum, mean;

10455 LEEE | SRS

P2
public class P2 {

public void count2{int n)
{
int counter;
counter =1;
cusum = 0;
product = 1;
while {counter <= n)
{
Cusum += counter;
product *= counter;
counter += 1;

h
public int getCusum()
{

retum cusum;

h
public int getProduct()
{

h
private int cusum, product;

retum product;

-l

public class P3 {

public void count3{int n)
{

int counter;

counter = 1;

cusum = 0;

while (counter <= n)

{
CUSUM += counter;
counter += 1;

}

mean = cusum / m,
H
public int getCusumi()
{

returm cusum;

¥
public int getMean()
{

H

private int cusum, mean;

return mean;
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public class P4 {

public void countd(int n)
{

int counter;

counter = 1;

cusum = 0;

while {counter <= n)

cusum += counter;
counter += 1;

}
;;l)ublic int getCusumi)
{

retum cusum;

private int cusum;

public class P5 {
public void countS(int first,int second)

{
int intermediate;
intermediate = first;
result_first = second,;
result_second = intermediate;
}

public int getResult_first()
{
retum result_first;

}
public int getResult_second()
{

}

private int result_first, result_second;

retum result_second;
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PG
public class PG {

public void countb(int n,int product)
int counter1, counter?, counter3, counterd;
counteri = 1;
int a[] = new int{n];

while (counter1 <=n)

a[counter1-1] = counter’;
counter] += 1;

counter2 = 0Q;
cusum = 0;
while (counter2 < n)

cusum += a[counter2];
counter2 += 1;

counter3 = 0Q;
prod = 1;
while (counter3 < n)

prod = prod* product * a[counter3];
counter3 += 1;

counterd = 0;

sum = 0;

while (counterd < n)

{
sum += a[counterd];
counterd += 1;

mean = sum / n;
|}JLI|J|i[: int getCusum()
{ return cusum;
|}Jubli-: int getProd()

{ return prod;
public int getSum()
{ return sum;
Lublic int getMean()
return mean;

private int cusum, prod, sum, mean;
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public class P38 {

public void count8(int m, int n, int p, int flag)
{

int counter1, countar?, counter3;

cusum = 0;

product = 1;

sum = 0;

mean = 0

if (flag == 1)

{

counter1 = 1;

cusum = 0;

while (counter1 <= m)

{
cusum += counter;
counter! += 1;

b
%Ise if (flag == 2)

counter? = 1;
product = 1;
while (counter2 <=n)

product *= counter2;
counter2 += 1;

else

ot { counterd = 1;
ublic class PT =1
public class PT { am=0;
while (counter3 <= p)
{

int counter1, counter2, temp; sum += counter3;
counterl =0; counterd += 1;
a=tmp; H

System.out print("\n"); } ~ _
for (counter! = 1; counter1 < n; counter!++) mean = sum / p;

fublic void count? (int]] tmp, int n)

P
for (counter2= 0; counter2 < counter; counter2++) {PUbl'E int getCusumy)

if {a[counterl] <a[counter2]) retumn cusum;

P
temp = a[counterl]; public int getProduct()

a[counter1] = a[counter?];

a[counter?] = temp; retum product;
b } ipublic int getSum)
} } retum sum;
{Pub"c nilgetal |}JUb|i['. int getMean()
reum retum mean;
private inff] a;

private int cusum, proeduct, sum, mean;

—6--



14E5LEEE

BRI (AEREERELOT

B

>uXH

T HHREIZERVIA -

ZHo | (SHAGEREHEREE) HUME - 3R 4RESE - H4-19~21 -

:

(—)
AR AR Pt IE ~ F2 TR Bk
(L P1 HAANE ZA{EThEE - BRI AR -
Coincidental
Y P8 FHAGH N B 2 EARRATRHYDIAE -
Logical
HHF NS P6 THAHN B 2AEThAE - A E B R RA -
Temporal
2 P2~ P5 HAHN E ZAEThRE - HA iR —ERIIEFP BT
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4y + getProductfyE & AT BilgetProduct()45 4 5 sumEidmean &t E A BilgetSum() ~ getMean()45 4

(Z)PLPE S b %=4/5
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P3Py FJbE =213
PAPYE FILE =12
PBPYE FJLE=2/3
PO ]t %e=4/5
PTPY S =112
PRI ]t #=4/5

: cusumiyE T ] EdgetSumo()



